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I BECE-0151 

BACHELOR'S DEGREE PROGRAMME 
(BDP) 

Term-End Examination 

December, 2015 

ELECTIVE COURSE : ECONOMICS 

BECE-015 : ELEMENTARY MATHEMATICAL 
METHODS IN ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as directed. 

SECTION A 

Attempt any two questions from this section. 	2x20=40 

1. Given the Utility function U = xi x2 a  and 

Budget line m = p lxl  + p2x2, find out the 

ordinary and the compensated demand functions 
for the two commodities. 

2. Calculate the equilibrium values of rate of 
interest `r' and income 	for the following 
macroeconomic model : 

C = 0-84, I = 102 - 0-2 r 

Md = 0-25 Y - 2-5 r, Ms = 100 

Y = C + I and Ms = Md. 
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3. Consider a three-sector economy of agriculture, 
mining and manufacturing with final demand 
vector of [20,000, 10,000, 40,000]. 

(a) What will be the gross outputs of the three 
sectors if 

0.3 0.5 0.3 

A = 0.2 0.2 0.3 

0.4 0-2 0.3 

(b) Does the data satisfy the Hawkins-Simon 
condition ? 

4. Demand and Supply functions for Cobweb 
models are 

(a) Qdt = 18 '3  Pt,  Qst - 3  + 4  Pt- 

(b) Qdt = 19  - 6  Pt,  Qst 6 1c51 

Find temporal equilibrium prices. Also 
determine whether the equilibrium is stable. 
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SECTION 11 

Attempt any four questions from this section. 	4x12=48 

5. Explain the concept of equilibrium for dynamic 
games with incomplete information. 

6. Set up a Linear Programming Problem. State its 
dual and outline the simplex method. 

7. Find limit when x 0 

(1  +  x)6  -1 
(1 + x)2  - 1 

Also check the above function for continuity. 

8. Use Cramer's Rule to solve : 

4x + 3y - 2z = 1 

x + 2y = 6 

3x + z = 4 

9. Consider y = ax) and f' > 1. What will be the 
shape of the curve if 

(a) f" > 0 

(b) f" < 0 

10. (a) Define the concept of total derivative. 

(b) Find du when u = 3x2 2y2 + y3. 
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SECTION C 

Attempt any four parts from this section. 	4x3=12 

11. (a) Write an expression for Roy's identity. 

(b) What is a feasible solution in linear 
programming ? 

(c) Define a vector. 

(d) What is a differential equation ? 

f (e) Solve 3  dx 
x 

(0 If A = 
7 -1 	8 

and B = 
6 9 	6 

, find out 

AB. 
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I if1.t.Tft .t..415 

Izirm Ira% cbitistoi 
) 

Rgia trftan 

Rti &Gut, 2015 

ch 	: anhOTTM 

Attaft.t.-015 : aTelVTTPA ti 	co 
ilDirflq fdf4tii 

AR : 3 El 	 31 ?PT: 100 

adz : A-4w wri 4 f4cTquifim NW 4..  afff elf47 

siPT /We Nwi 3-df 00V / 	 2x20=40 

1. 31170 JLItiActi th-aq u = xlt 	f .4-4Z 

	 VifT m = p1x1  + p2x2  1IT TRIT 	I X1.11 
rcw kfitiltui MIT 411WELM (compensated) 

TOFF th—eq Tu*tf* 

2. 	 tim iti apturiltw iiiso 	041,31..4t `r' 

21-1 3TT4 T*IT1121 RT-41 "W1  	: 

C = 0-84, I = 102 – 0.2 r 

Md = 0-25 Y – 2.5 r, M8 = 100 

Y=C+I*M8 =Md 

BECE-015 	 5 
	

P.T.O. 



s. 	itir4q 	 ft-04 aPIRKP-Tr 

TrR #ri* "NFil 	r (airm:0 	r Trr-qr 

[20,000, 10,000, 40,000]. 

() 	kicno 30-114.1 err X11zek 

0.3 0.5 0.3-  

A= 02 0.2 0.3 

0.4 0.2 0-3 

4:4-r aft* V1*-41.-t1141 11 7E4•Q- -P91i 	? 

4. c 	T ch.1,41 H.so -grt4 winit-f4 tb-m-  : 

() Qdt  = 18.3 Pt, Qst  = — 3 + 4 Pt_ i  

Qdt  = 19 — 6 Pt, Qst  = 6 P 51  

chtosiimich (temporal) 4ge1 	oict tri* I .zT 

1ft wuttf* 	
 

ticgrtit 7rr Tef 
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fT 31P7 *-4- 	yg, 	auz 	I k 	 4x12=48 

5. aRkui *oil A-A .16) t.;zil 	tiaif4n Tigaq 
ochry-11 	k.1 115fIW I 

6. 'RW vt) m MPH 'WRIT ts41 ATAR I wQ tt 
GICIIW MIT *PAW iMir 	ti* 

7. *IT Tff -ttf* -T4 x -> 0 

(1 +  x)6  -1 

(1+ x)2  -1 

	

itR TrR th-Fq *     tiftwut 
AT-4R 

8. *Tii Atm T3 	j1JWe 	fel 	: 

4x + 3y - 2z = 1 

x + 2y = 6 

3x + z = 4 

9. 1:1T4 #tr4R y = 11x) IT f' > 1. 	TT TEffq SAT 

in Aft 

() f" > 0 

(W) f" < 0 

10. (*)  	 triturErr *PA 

(131) du Tff trf4Ri u = 3x2  + 2y2  y3 . 
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pIT WV kI f 	(sfus .  3-d?" 	I 	 4x3=12 

11. 	114 cirtif4chi (Roy's identity)qcw I 

NO 164) That 	Til-T4k1l1i1i1 "WI ? 

(TI) 	 (vector)*t 710171T trA I 

(v) 3c tAlchkut ITT ? 

(u) aTrrAtrA7 f-
3

dx 

—1 	 8 	, 
( )A= 

	

	 B = 
7 

 6 9  1.] 

AfA I 
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